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QUESTION 1

A child is exhibiting tantrum behaviors. You believe the tantrum is occurring for your attention. You therefore ignore the
tantrum until it ceases while continuing daily activities. You note that the tantrums decrease over time. This is an
example of:

A. Positive punishment

B. Establishing operations

C. Time-out

D. Extinction

Correct Answer: D

QUESTION 2

A behavior analyst is measuring the time it takes for a client to say, "You\\'re welcome" after the staff says, "Thank you."
The behavior analyst is measuring

A. Frequency

B. Duration

C. Inter-response time
D. Latency

Correct Answer: D

QUESTION 3

To increase the likelihood of beginning a difficult task:
A. arrange a reinforcer for its completion.

B. do several easy tasks first.

C. arrange for periodic reminders.

D. establish a deadline for completion.

Correct Answer: B

QUESTION 4
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A punishment contingency is LEAST likely to produce which effect?

A. Undesirable emotions may result.

B. Aggressive or violent behavior may be evoked.

C. A more appropriate replacement behavior may develop.

D. The person delivering the punisher may become an aversive stimulus.

Correct Answer: C

QUESTION 5

A client with a history of escape maintained problem behavior begins to throw the puzzle pieces a few minutes after
starting to work on the task. What is the BEST programmatic change for the behavior analyst to make?

A. Remove the puzzle and implement a time-out procedure.

B. Teach the client to request escape using an adaptive behavior.

C. Implement an overcorrection procedure to reduce puzzle piece throwing.

D. Increase the amount of social praise delivered for successful task completion.

Correct Answer: B
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